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   S²Ì!“þ!Ýþ !î¦þyöì†îû ‹˜Ä þ™,í„þ vþz_îû þ™e îÄî£yîû „þöìîûyV 
 

   ò„þó éôé !î¦þy† 
 

1Ð öë ö„þy˜ ”%!Ýþ !î¡ìöìëû ¢‚!Çþ® Ýþ#„þy öœöì…y S²Ì!“þ!Ýþ x˜!„„þ 100 Ÿöì·V ƒ [2×5] 

 „þV ò¢y›Äîy”ó ¢Á™öì„Åþ ö²ÕöìÝþyîû „yîû’y 

 …V !¢öì¢yöìîûy„,þ“þ ¢îû„þyöìîûîû  ö×!’!î¦þy†þ 

 †V x†yÞÝþy£zöì˜îû ò”%£z ˜†îû#ó “þ_´ 

 ‡V x!¦þöì¡ìöì„þîû ¢‚„þÝþ 
 

2Ð öë ö„þy˜ ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç Sx˜!„„þ 700 Ÿöì·V ƒ     [1×15]  

 „þV xÄy!îûÞÝþÝþöìœîû îûyÜTÉ“þ_́!Ýþ xyöìœy‰þ˜y  „þîûÐ       

 …V ›„Äë%†#ëû £zvþzöìîûyöìþ™îû îûy‹÷ì˜!“þ„þ  !‰þhsþyîû ›%…Ä ÷ìî!ŸÜTÄ=!œ îÄy…Äy „þîûÐ  
 

ò…ó éôé !î¦þy† 
 

3Ð öë ö„þy˜ ”%!Ýþ !î¡ìöìëû ¢‚!Çþ® Ýþ#„þy öœöì…y S²Ì!“þ!Ýþ x˜!„„þ 100 Ÿöì·V ƒ [2×5] 

 „þV ²Ì„,þ!“þîû îûy‹Ä ²Ì¢öìD £î¢ä ç œ„þéôéé~îû !‰þhsþyîû þ™yíÅ„þÄ 

 …V ò¢yîÅöì¦þï!›„þ“þyó ²Ì¢öìD £î¢ä  

 †V îÄ!_«†“þ ¢Á™!_ ²Ì¢öìD  œ„þ 

 ‡V þò¢Á¿!“þó ¢Á™öì„Åþ œ„þ  
 

4Ð öë ö„þy˜ ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç Sx˜!„„þ 700 Ÿöì·V ƒ     [1×15]  

 „þV £î¢äöì„þ ö„þ˜ îlßþîy”# îûyÜTÉ!îKþyöì˜îû ²Ìî“Åþ„þ !£¢yöìî †’Ä „þîûy £ëû ö¢!Ýþ xyöìœy‰þ˜y „þîû Ð 

 …V vþz”yîû˜#!“þîyöì”îû ²Ì!“þÛþyëû œ„þéôé~îû xî”y˜ xyöìœy‰þ˜y „þîû Ð 
 

English Version : 

[Use a separate Answer Book for each group] 
 

Group – A 
   

 

1. Write short notes on any two of the following (each within 100 words) : [2×5] 

 a) Plato's idea of 'Communism' 

 b) Cicero's classification of government 

 c) Augustine's theory of ‘two cities’ 

 d) Investiture controversy   



(2) 
 

 

2. Answer any one of the following (within 700 words) : [1×15]  

 a) Analyse Aristotle's theory of the state.  

 b) Explain the basic feature of the political though of the Mediaeval Europe.  
 

Group – B 
   

 

3. Write short notes on any two of the following (each within 100 words) : [2×5] 

 a) Differences between Hobbes and Locke regarding their views on the ‘State of Nature’ 

 b) Thomas Hobbes's concept of 'Sovereignty' 

 c) Locke on private property 

 d) Locke on 'Consent'  
 

4. Answer any one of the following (within 700 words) : [1×15]  

 a) Discuss why Hobbes is considered as the founder of the science of materialist politics.   

 b) Discuss Locke's contributions to the founding of Liberalism.  

 
 

———— × ———— 


